
1 1 LP Formulation

tons of bands
y tons of coils

Max 25 304

40

O X 6000 0 y 4000

Inspection

Bands 200th 251 500014

coils 140th 30 1 4200 4

so make the 6000 tons of bands

and the rest should be coils

6000 h 6000200 30k

10h of coils tons 10 140 1400

so X 6000 y 1400

Max 25 6000 30 1400 192000



1 2
xEn Ithaca Newark class C

SB Newark Boston 1

IB Ithaca Boston 1

I N Y 300 B 220 M 100

N B Y 160 B 130 M 80

IB Y 360 B 280 M 140

max

300XIN 220XBIN 10041 1601 t 130 1 8013 3601 280 1
140XIB

Ithaca Newark

IN
BIN XIN Bt BIB 30

Newark Boston

YB XBuB YB IB B IB 30

IN 4 EN 8 IN 22

YB 8
B 13 x1 20

IB 43 BIB 10 Is 8



show that for any integer n In 2 2 22
let an

avg.IE
t Et

t

Base case n 1 4 2 a 2 4 4

suppose we've checked up to the n k case then
we know that

an 4 an It
am n 4 I µ

2 14 2.24
anti

49 1

27 2 ant 49th
ath 2ha ÉtfI

Hence true for the k nth case



2 1.2

LP formulation

min 0.15 7 0.104

y 100000

EX 90000

ogesooo

fy

y 3

103 0.15 50 0.10 50 12.5

0 15 90 0101 10 14.5

pick 50 507 103



3
max 5 44

milk 3 2y 22

freezer X 26
time y 6

x y 0

a 0 61 6,0 6,2 415

In 38 4

x y 4,5

b Let ice cream price be p

0,61 4P 20224 P21
4P 20 Gp p210
4P 20 60 8 p 6

so I 2p 6 keeps 4,5 optimal
C I extra gallons

3 2y 22 E

IX y 6 2 4 0.4 E y 5 o.IE

5 thy 40 1.6 E

Netgain 40 1.6 E E 40 0.68



each gallon adds 6

until freezer 6 4 0.4E 6 5

so beyond 5 milk ceases to bind

so yes by 5 gallons

profit 40 43


